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Principle of mass Balance

rate d- = net movement + net rated
change orfyux production
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For any closed volume V ED (fixed in time and space ) ,
with boundary OV
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Divergence thm gives
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systemd- reaction- diffusion egns .

Require : Ics and Bcs to close the system .

Think further about the step I
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Then JE70 Sit
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In this case
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contradicts our original assumption, and so

The RD egns hold .
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4.2Chemotu
chemotaxis - movements up chemical gradients

diffusive flux To = - Drin

chemotactic flux Jc = my cc) Dc = notice)
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eg . logistic
growth .



4.3positiohaliulermationandp.ae#rnfermation
Theories
① Positional intermedia - Wolpert

" French Flag Model
"

② Diffusion-driven instability - Thing (§ 6)
The French Flag Model
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Boundary conditions UL0
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UL4 t ) = 0

4- if we start with a small initial distribution ,
will there be an outbreak , or will the papa
die out ?
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For the outbreak to die out : one O tu

↳ I
oh

9- how does the steady state pattern depend
on the domain site? as µ

Umax

shift coordinates #
-42 42

At steady state 0 = D% + flu)

multiply by %x ,
and integrate :
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